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ADVANCED SURVEYING
fuffaa: 3 EI%] . [ﬂﬁﬁq IF : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () FA-TFAATFT g g/
Note : There are THREE sections A, B and C in the paper.
(i) @FIT T T &1 F @10 YT % IR GG | F9AF 9T 0 3 8 G
T 10 91T TGAE TFR & T & & |
Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.
(iii) QFIT @ F 8 ¥ 4 @ 58T 6 F¥A F I Y | FF T 3 3% FE @
§THT5 AMET / 50 VG H IR G | '
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words. -
(v) QT & &6 ¥991 7 @ f5eT 4 31 & I T | F9F F97 8 FHF B 8 @F
F7%HT15 &IgT /150 F/w) 3 IR T ) | '
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.
() NeI% QT S G T B FHHIR TF G FT BT |
Solve all the questions of a section consecutively together.
(vi) @M1 STIan 8 R 817 %1 R § sl srgare @ T 8

Only English version.is valid in case of difference in both the languages.

JAA - T
SECTION - A

1. () o ue gag g

(a) afdnm (b) W

(c) Preivfm | (d) wET

The principle of plane table surveying is

(a) Traversing (b) Ranging

(c) Triangulation (d) Parallelism
b et ,
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(i) &< TFa AN T gl ST=ifs v 1A % qUR G TR, &l
N o3t i a2 |
(a) (2+4N)x90° (b) (2-4N)x90°
() (N-2)x180° d) (2N +4)x90°

In close traverse, the sum of the measured interior angles should be equal to
, where N is the number of sides.

‘(8 (2+4N)x90° (b) (2—4N)x 90°

© (N-2)x180° (d) (2N +4)x90°
(i) RriSiemse 1 s Fifés frnamr e -

(a) T I TS (b) SR I % =™

() Tesiwes=mE @ 9 =R S|

Size of theodolite is specified by
(a) The length of telescope (b) The diameter of vertical circle
(c) The diameter of lower plate (d) The diameter of upper plate

(iv) iY@ e @ a8
(a) RRAAFATFAAR (b)) IR AH F TN
(c) PR 31 % THHI W (@) af 318 S gE=R
The line of sight and line of collimation is
(a) Parallel to axis of plate level
(b) Parallel to vertical axis

(¢) Right angle to the trunnion axis
(d) Parallel to the horizontal axis

(v) et ¥ wem feran i aren srftgwa T B
(2) U@ ATAA oG (b) STAATA
(c) 3raqe oid ; (@) wAE

The anallatic lens provided in tacheometer is a
(@ Convex and concavelens (b) Convex lens

(¢) Concave lens (d) Plane lens
(vi) IR T o it Tk i B R e, SsRdim DO wE S <t o 3orﬂa%'cﬁ
R & D° % W&d Hae g :
() R 572D9.6 A . ) R= 17]1)8 6
© R= 11;@)5.9 @ R= 37;9

If the radius of a simple circular curve is R metre, degree of curvature is D° and
length of chord is 30 meter, then the relation between R and D° will be :

5729.6 » 1718.6
(a) R= D (b) R= D

_ 1145.9 372 9




g CC/CE4002 (3 of 4)
(vii) RrirSrege o g T 51 HR FETEA S ?

2294

(1x10)

@ U b) V
c T @ A
In theodolite index frame shape is of which type ?
@ U (b) V
¢ T @d@ A
(viii) Frerfiaa 3 & 1 a1 dieet R o HaISH 1 96 He gt ?
( PRreEmse, F™ (b) RErEEmse, W
© $Ew, e (@) e,
Which of the following indicate the correct set of the combination of total
station ? ; :
(@) Theodolite, compass (b) Theodolite, EDM
(c) EDM, GPS (d) Compass, EDM
(ix) Fret ¥ ¥ a1 GIS TR | gafm & 2 ?
(@ CAD (b) ArcGIS
(c) Arcview (d) STAAD Pro
Which among the following is not related to GIS software ?
(a CAD (b) ArcGIS
(c) Arcview (d) STAAD Pro
) T ddEn arideg & Riga H fawarg ?
(a) oFadeT (b) TR
() gEEH (d) afdm
Which of the following indicates the principle of GPS ?
(a) Resection (b) Trilateration
(c) Trisection (d) Traversing
|-

SECTION - B
2. W du gagor % @iy fafa | ‘

. Write advantages of plane table surveying.

3, witse fram qun gitte form o e fafee |

Write the difference between Bowditch Rule and Transit Rule.

4. TRl 3N S kel e  HeY HIST |

Explain the relation between degree of curvature and radius of curvature.

s, Swiwiich i e Rt w1 Rigi wEET

Explain principle of stadia system in tacheometry.

K&

(©))

(&)

&)
P.T.O.
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6.

10.

1L

12.

13.

14

15.

RT3 % Fa=4 & Y HAGH % ST AT |

Write uses of Remote sensing in disaster management. A3
e Suskor % e ferRae | |

Write uses of GPS instrument. 3
died RYH i f1&uies yomredt & o719 = HEIA § 7

What do you understand by co-ordinate system of total station ? 3)

Rrieieze % gt 216l % T 9 I wifsa 999 fafe |

Write down the name of fundamental axis of theodolite and desirable relation
between them. 3)

B —
SECTION - C |
@ el gau § w1 R e faf susstel 3 A e T st sl hif |

Write name of various instruments used in plane table surveying and describe them. (8)

RrfEiemse F Ut gurESH %I R @ gasnsy |

Explain the temporary adjustment of a theodolite in detail. 8)

T S 5FH S TEE chl SITUMT 3 et <hi S5HH TR TR THIST |

E'xplain\' Gale’s traverse table for calculation of balancing of closed traverse. ®

w5 Pl 1 e Y Ry o i =) gwemse )

Explain the Rankine’s method of deflection angle for setting out simple curve. €))
1o Ry | e o Amgw 6 fafy forRag |

Write method of measuring horizontal angle by total station. - (8)
e genfermifln o fone Sfem 3 s forfRew |

Write applications of remote sensing in civil engineering. ®




